450:5=....... 240:4=......
720:8=....... 210:3=......
640:8=....... 810:9=......
350:7=....... 560:7=......
180:3=....... 160:4=.......

180 :
360 :
320 :
280:4
270:

Los op door het deeltal te splitsen in H, T en E.

248 : 2 = [200:2] + [40:2] + [8:2]
=100 + 20 + 4 = 124

963:3=[0errnn.. | A | RO
T + o + . T

888 :8=[cccin.... | PO | PR
= + + =

448 :

639 :

909:9=

Hoofdrekenen: Delen

800 :
450 :
750 :
700 :
900 :

Los op door het deeltal te splitsen. Denk aan je deeltafels.

749 : 7 = [700:7] + [49:7]

/SN _
700 a9 — 100 +7 =107

856 :8=[cccun...... | PP ]
/N

S + . = e
618 :12=[ceverenn... |3 AT ]
/N

= + =




